#### RAPIDES PARISH

# PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated (Total)		20,499.0	1,000.00	20,499,000	lbs.	\$9,872,318
Seed - Non-irrigated (Total)		20,499.0	1,600.00	32,798,400	lbs.	\$1,580,883
Cotton (Total)	56	20,499.0				\$11,453,201
FORESTRY						
Pulpwood						
Pine				140,132	cords	
Hardwood				25,866	cords	
Pulpwood (Total)				165,998		
Chip & Saw (Total)				22,336	cords	
Saw Timber						
Pine				31,958,853	board feet	
Hardwood				3,153,110	board feet	
Saw Timber (Total)				35,111,963		
Total Pulpwood, Chip & Saw,						\$33,099,976
Saw Timber FOB Mill						
Total Forestry Stumpage						\$17,297,996
(Total)						
Christmas Trees (Total)	*			250	trees	\$10,000
Pine Straw (Total)	*			1,500	bales (40 lbs.)	\$3,000
Forestry Seedlings (Total)	*	40.0	3,000.00	120,000	seedlings	\$4,200
					(1,000)	
Forestry (Total)		40.0				\$33,117,176
FRUITS						
Blueberries (Total)	6	8.0	810.00	6,480	lbs.	\$12,636
Mayhaws						
Native	12	60.0	55.00	3,300	lbs.	\$3,630
Orchard	*	12.0	750.00	9,000	lbs.	\$11,700
Mayhaws (Total)		72.0				\$15,330
Peaches (Total)	*	10.0	210.00	2,100	bu.	\$84,000

Fruits (Total)		90.0				\$111,966
FEED GRAINS						
Corn (Total)	52	4,400.0	165.00	726,000		\$1,923,900
Grain Sorghum (Total)	45	3,922.0	102.00	400,044	cwt.	\$1,874,606
Feed Grains (Total)		8,322.0				\$3,798,506
HAY FOR SALE						
Grass (Total)	145	6,200.0	1.50	9,300	tons	\$859,320
Hay for Sale (Total)		6,200.0				\$859,320
Home Gardens (Total)	1,010					\$202,000
NURSERY CROPS						
Fruit and Nut Trees (Total)	6				acre	\$400,000
Floraculture & Bedding	7				acre	\$3,750,000
Plants (Total)						
Woody Ornamentals (Total)	285				acre	\$45,000,000
Foliage Plants (Total)	32				acre	\$1,500,000
Nursery Crops (Total)						\$50,650,000
PECANS						
Improved (Total)	11	300.0	750.00	225,000	lbs.	\$292,500
Native (Total)	185	780.0	760.00	592,800	lbs.	\$563,160
Pecans (Total)		1,080.0				\$855,660
Rice (Total)	15	8,392.0	69.00	579,048	cwt.	\$5,153,527
Soybeans (Total)	115	25,516.0	45.00	1,148,220	bu.	\$6,723,976
SUGARCANE						
Raw Sugar (Total)	23	11,809.0	5,940.00	70,145,460	lbs.	\$8,417,455
Molasses (Total)		11,809.0	178.00	2,102,002	gal.	\$420,400
Sugarcane (Total)		11,809.0				\$8,837,856
SWEET POTATOES						
Canning (Total)				11,160		\$61,380
Fresh (Total)				26,040		\$279,930
Sweet Potatoes (Total)	*	120.0	310.00	37,200	bu. (50 lbs.)	\$341,310
VEGETABLES						
Collards						
Fresh	*	12.0	510.00	6,120	doz. bunches	\$42,840
Collards (Total)		12.0				\$42,840
, ,						•

RAPIDES PARISH 215

# RAPIDES PARISH PLANT ENTERPRISES PRODUCTION

1	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Cucumber						
Fresh	*	2.0	320.00	640	bu. (50 lbs.)	\$11,520
Cucumber (Total)		2.0				\$11,520
Eggplant (Total)	*	2.0	550.00	1,100	bu. (33 lbs.)	\$22,000
Mustard (Fresh) (Total)	*	12.0	610.00	7,320	doz. bunches	\$51,240
Okra (Fresh) (Total)	8	8.0	182.00	1,456	bu.	\$43,680
Shallots (Total)	*	2.0	600.00	1,200	doz. bunches	\$8,400
Snap Beans (Fresh) (Total)	*	3.0	102.00	306	bu. (30 lbs.)	\$9,180
Southern Peas (Fresh) (Total)	15	20.0	105.00	2,100	bu. (24 lbs.)	\$52,500
Squash (Fresh)						
Yellow Squash	*	2.0	205.00	410	bu. (45 lbs.)	\$9,225
Squash (Fresh) (Total)		2.0				\$9,225
Sweet Corn (Fresh) (Total)	*	45.0	70.00	3,150	doz. ears	\$11,025
Tomatoes (Field) (Total)	*	5.0	750.00	3,750	lugs (20 lbs.)	\$75,000
Turnips (Fresh) (Total)	*	12.0	300.00	3,600	doz. bunches	\$25,200
Watermelon (Total)	*	40.0	150.00	6,000	cwt.	\$48,000
Vegetables (Total)		165.0				\$409,810
Wheat (Total)	*	704.0	67.00	47,168	bu.	\$189,309
TOTAL ALL PLANT ENTERPRISE	ES					\$122,703,617

RAPIDES PARISH	FISHERIES &	WILDLIFE ENTERPRISE	S PRODUCTION		
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm) (Total)	10	825 Acres in	Prod. 301,125	lbs.	\$361,350
Aquaculture (Total)					\$361,350
FRESHWATER FISHERIES					
Freshwater Finfish (Total)			7,680	lbs.	\$3,537
Freshwater Fisheries (Total)					\$3,537
Alligators (Wild) (Total)			757	ft.	\$18,938
HUNTING LEASES					
Waterfowl (Total)	*	5,000 No. Acre	es	acre	\$250,000
		Leased			
All Other Game (Total)	296	310,000 No. Acre	es	acre	\$2,170,000
		Leased			

750 No. Hives

48,750 lbs.

\$2,420,000

\$43,875 \$2,847,700

217

Hunting Leases (Total)

**RAPIDES PARISH** 

TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES

Honey (Total)

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
CATTLE & CALVES							
Steer Calves							
300-400 lbs.			3,003	head	\$1,492,806		
400-500 lbs.			924	head	\$515,384		
500-600 lbs.			462	head	\$282,839		
600-700 lbs.			231	head	\$158,784		
Steer Calves (Total)					\$2,449,813		
Heifer Calves							
300-400 lbs.			3,005	head	\$1,326,572		
400-500 lbs.			925	head	\$482,642		

<sup>\*\*</sup> The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

## RAPIDES PARISH

## ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
500-600 lbs.				463	head	\$267,663
600-700 lbs.				232	head	\$154,540
Heifer Calves (Total)						\$2,231,417
Yearling Cattle						
600-700 lbs.				700	head	\$454,773
700-800 lbs.				400	head	\$284,850
Yearling Cattle (Total)						\$739,623
Cow-Calf Pairs (Total)				1,150	pair	\$1,092,742
Cull Cows (Total)				1,890	head	\$714,893
Cull Bulls (Total)				45	head	\$38,050
Cattle & Calves (Total)	390	13,500	No. Cows			\$7,266,536
HORSES						
Brood Mares						
Race Horses	58	230	No. Brood Mares	115	head	\$920,000
Show Horses	50	190	No. Brood Mares	90	head	\$360,000
Recreation Horses	25	100	No. Brood Mares	50	head	\$75,000
Brood Mares (Total)						\$1,355,000
Stud Fees						
Race Horses		15	No. Stallions	300	mares bred	\$750,000
Show Horses		14	No. Stallions	270	mares bred	\$405,000
Recreation Horses		8	No. Stallions	90	mares bred	\$45,000
Stud Fees (Total)						\$1,200,000
Race Horses (Total)	35			120	head	\$1,440,000
Show Horses (Total)	425			820	head	\$4,100,000
Recreation Horses (Total)	520			900	head	\$1,350,000
Horses (Total)						\$9,445,000
POULTRY						
Edible Eggs (Total)	6	150	No. Hens	2,550	doz. eggs sold	\$1,821
Poultry (Total)						\$1,821

RABBITS						
Fryers (Total)	20	14,000	No. Animals	56,000	lbs.	\$44,800
Does (Total)	20	7,000	No. Animals	28,000	lbs.	\$4,200
Rabbits (Total)						\$49,000
SHEEP						
Wool (Total)		85	No. Sheared	510	cwt.	\$128
Slaughter Lambs (Total)				75	head	\$11,719
Feeder Lambs (Total)				25	head	\$1,875
Show Lambs (Total)				25	head	\$7,500
Cull Sheep (Total)				20	head	\$1,000
Sheep (Total)	*	85	No.Breeding			\$22,221
			Ewes			
GOATS						
Show Goats (Total)				50	head	\$12,500
Slaughter Goats (Total)				860	head	\$107,500
Stocker Goats (Total)				290	head	\$27,550
Cull Goats (Total)				145	head	\$9,425
Goats (Total)	40	800	No. Does			\$156,975
SWINE						
Show Pigs (Total)				30	head	\$8,400
Feeder Pigs (Total)				1,940	head	\$58,200
Slaughter Hogs (Total)				430	head	\$51,696
Culls (Total)				35	head	\$5,600
Swine (Total)	40	200	No. Sows			\$123,896
TOTAL ALL ANIMAL ENTERPRISES	5					\$17,065,449

**RAPIDES PARISH** \$142,616,766 219